2013 ~ 2014 ER = R
158 =7 BEm=—71)—45  E5H

Bi#RBR 2013. 12. 15(A) = 15 OME
F— L x B F—L%
$284 11:40~FCYIL—E«—Y=] 4 — 2 FCRJL/AR-YZT
EaHE 14:30~ EMU7LUA 2 — 2  LyRFRa7—X-y=7
178 =7 B =71)—45 FEA4E
F#ER 2013. 11. 3(A) = 5 BBEISUR
F—L% Xt B F—L%
Eoa& 11:40~ FC 4 )L—Eq— 1 — 1 EmorLos

1% =7 BEmey=7)—Y %3
BB % 15 BEEISUR

158 =7 BEm=7)—4>  F2f

BifER 2013. 5. 26(H) = 15 BHEISUR

F— L * B F—L%
#=3HE 13:00~ NJL/RXFC — BEmo7LaA
#4RE 14:30~FC JI)IL—Eq— - FCLYRR37—X

158 =7 BEm=7)—4>  F1&

BifER 2013. 4. 28(H) = 5 OME
F—L% xt B F—L%A
®3%4 13:00~ FC 4 )L—E 14— — ~RJL/AFC

®45%4S 14:30~ FC 4 I)L—E 41— OPE BEmo7Las



